—

) (dN / dz <"

%)
]
2

(1/N

10*

10°

102

10

-

10°

1072

107

:_ UE Subtracted

UE Subtracted

UE Subtracted

- 0,[x07,R=02 7,06 R=03 7, k0.5 R=04 E

e T =+ :

o= = A

E_—A—_A—:Qf* == == E

F =, ==

==, == e

E EQE—A—_A__A_ =°=;E_ == 3

E ALICE == = =R ——

[ High Multiplicity 3 | - - ]

F pp Vs =13 TeV A10<p'Tet’°h<20G:eV/C - =3

= pP 5 0.15 GeVic 20 < p’" " < 30 GeV/e +40 < p* " < 60 GeV/c E

F Ch. particle leading anti-k ¢ jets ] = 30 < p=t "< 40 GeVic * 60 < p'* " < 80 GeV/c ;

:|III|III|III|III|III||III|III|III|III|III||III|III|III|III|III|E

O 02 04 06 08 10 02 04 06 08 10 02 04 06 08 1
h _ ,, particle, _jet, ch

z° = T / T



